L{wjwuwmwGh Qulpwwhlnmpjui optiiunpnipjunip uwhdwijwe lpupgny hwunwmud
Swpunupuwnw hGupupulu i (whiugoh  hwdwyunwufuwi Gnp GGptph, 2hGmpymGGLpp (GEpwnjuwy  ny
hhdGulu) JhGwpupnipub (mbtnunpiwG) poygpunympjut hunifwp mtnuiwé wnippp uwhiwiymy t°
hpiGwlwé opjblpnGhph hunwp®
1) dhGsl 300 pumwlymuh dtnp plnhwlmp dwlbptu mGhgny wihwnuwyw pGultyh , wy pymd w Jqtigqnpowlwi
(wiwnwlngwjhG) wlkph, hswbu Gul UpGsk 200 punwlniup Shnp plnhwéng dwltiptu nilbgny hwuwpulwywt L
wpnupuywi Guwwynipyub ophlpnGph hwiwp * 15 000 nnwd
2) unyG Ytanh »1«blpwltnm] sGwuwnbudwd opjblyGhph hudwp®
w. 200-hg dhGsL 500 pwnwyniuh Whnp nanhwnp dwhknpbu niGhgnn opblnGhph hudwp' 30 000 o,
P. 500-hg vhG;sk 1000 punwynuh Shnp pinhwimp dwykpbu niGhgnn opklpnGhph hundwip® 50 000 g,
q. 1000-hg uUhtsk 3000 pwnwyniuh dhwnp plghw Gnip dwybpbu mGtgnn optinGlph huntwp® 50 000 g,
1. 3000 Lwyljh pwnwyniuh dknp plnhwlmp dwlbtptu mGkgnn ophiljnGiph hunfwp® 100 000 pud,
n3 hpiGwlwG JhGmpymGGph mbnunpiw huniwp’
. UhGsl 20 pwnwlnuh dknp plghw inip dwytiptu mGkgnn ophiljnGhph hwdwip® 3000 npuad,
q. 20 L wybth pwnwyniuh thnp RinhwGnip dwytpbu mGkgnn op LijwmGkph hwdwp' 5000 npud,

2 Awiwylph Jupsulwub mwmuopmy pLGphph, 2hGmpyniGGtph, punwpwyhGuljw wj opbljnbkph Yhpwljunmgiw,
mdbnugdw, Jhipwiwiqbiwd, wpnhwywlwgiwb, wy luwnmuGpGhph (Pwgwnmpjunip {wjwumnwih Jwiipuynmpyul
optlunpmpyudp vwhiwbfwd’ 2hGwpwpmpyul poypngmpniG swywhwgyny ntwphph) hwdwp, bph uwhdwud
Jupgny hwuwnmunmjudy Gupuupuw nw hGupupuljw G (whuwgom]’

1) sh Gunwwnbugnod YgulwnnygGtph , YbpGwlwnmgGhph | 260ph qupwphwuwyhG swihbpG nlnpuylng wy
Yuonygltph (wyn pymd * wnnpgtunGyu ) htinlwlpny opjijnp plnhwnip dwlbtptiuh wbpugnud Jud okliptiph
qnpémnhﬁlllwﬁ G2wlwympjwl thnthnfumpniG * 3000 gpu

2) pugh opjijnp Yhpwljwnnigiwd |, mdtnugiwd, YepuiwiqiiwG lwd wpnhwliwlwgiwl  wpluwnwipllphg |
(whiunbujmd L Gul YgwlwnnygGhph |, yupGwlwnmyglbph , ytlph qupwphnwhG sunhbpG  plgwGng wyp
YunnygGtph (wyn pymd * unmnpobwnGu ) htanlauGpm] opjtiywp plnhwlmp Swhbkptuh unjbpugnd yund  phGptiph
qupownwluwl Guiwynmpyjwb hothnunipn , wuyw, pugh unyl Ytnh «1y» Gpwhnny uwhiwbyuwd npmjpwswithh ,
Yhpwoymd b Gwl  Gop phGupupmpywG hwdwp unyG  hwybpwoh 1-p6 Ytnny  wwhiwGwd Gnpdbpp' opjkljnh
pinhwnp dwybpbuh wbugdw Gud 2tiliptph gnpownwlwG Gywlwympyué thninfunipjwG Swuny .

3) (whwwnbugmd t Shuy jguljwnniygGhph JbpGwlwnnygGtph , ykGph qupupmnwihG swihtpl  plnuuyGon wyy
Yunniygltiph (wyn pymy * unnpgtanGyu ) 2pGwpwpnipymG fwd skGptph qnpownwlwi Gyulwlynpywl thnhnfunipymd,
www, uny@  opklph piwuwwnny , wyl hwdwpgmd Gnp 2hGwpwpnipymG, npp Gundudp Yhpuwmjmd &G Gop
2hGwpupmpyul hwiwp uniyG hunjtipjwoh 1-hG Yy wwhdwGfwd Gnpitipp :




. Jwidwylph Jupswlwl nwpwopmy ptlpkph, 2hGmpymGGhph, pwnupuhluljub wy opjiljnGtph pwlniwa

poyuympjul hufwp wmppp uwhdwynud £ 5000npu;

4. Quniw;iph nwpudpnus whnuiwG wmppp uwhiwlymad k.

1) nglijhg b unynhnjuyghi Jathsph quwnph Pyjunmipyul hudwp' Jnipupwbynip koudujwih hwitfup

w. Uhtigh 26 punwlniup Utnp plighwhnip dwljkpku mbikgnn hhdbwlwh b ny hhdwlubh 2htimpimiuikph thpunid
Judwnph juquulbpuyytut nhuzpnid’ 6000 npund,

P- 26-hg uhlgh 50 puruiljniuh dkwnp pughwbnp dwlkpku niiignn hhdbwljwh b ny hhulub 2htimpymilibkph
Ukpumd Ju&wnph Yuquwlkpudwh ghypnud’ 11000 npud,

q. 50-hg uhtigh 100 punwljniuh dkwnp pughwimp dwlkpbu niiignn hhdbwlymb b ny hhdmwh ohtmipymbbkph
utpunud Jw&wnph Yuquulbpupiub nhypnid’ 14000 npud,

1. 100-hg vhish 200 punwlniuh Ukwnp punhwbnip dwljkpbu niibgnn hhudtwlwb b ny hhdtmlui ohtmpeinibiikph
Ukpumd Juwnph Yuquulkpupuub ghypnid’ 21000 npunl,

k. 200-hg Uhish 500 pwrwyniuh dtnp phiphwinip Uwljkpbu nilikgny hhdtlut b ny hhdtlwh ohtmpmbbbknph
tkpunud Juw&wnph Juquulkpudwh ghypnd’ 30000 npuid,
Q- 500 b wykjh punwhniuh Ukwnp pinhwinip Uwlkpku nilikgny hpdbwlwh b ny hhuulwh ohtmipjnihiikph

Ukpunid Ju&wnph Yuquulbpupuwh ghypnid’ 50000 npud:

2) sjuwjininp wpiunpubiph Judwnph Poynynipyul hudwp nipupwgnip kpunlupuh hwitfwp’

. Uhigh 26 punwlniup Ukwp pighwinip Uwlkpku niiikgny hhutwlwh b ny hhultu ohtmpymbbkph
ubpunid Judwnph Yuquulbpuyuub ghypnid” 1500 npuad,

P- 26-hg uhish 50 pwnwlniuh dkwnp pughwimp dwlkpku niibgnn hhutmljw b ny hhululwh ohtmpimbhikph
Ukpunid Juwnph Yuquulkpupdwt ghypnud’ 11000 npu,

q. 50-hg uhlish 100 puwrwlniuh dkwnp phighwing Uwlkpbu niikgny hhltwlwb b ny hhdtmluh
2htmipnitiikph thpum Yudwrph Yuquwlkpuytuh nhupnud’ 14000 npud,

1. 100-hg uhtisk 200 punwljniuh dkwnp punhwimip dwljkpbu niikgnn hhdtwlymb b ny hhltwlub
ohtimpymuibph tkpund Juéwnph Yuquwlbpuytuk nhupnid’ 21000 npud,

t. 200-hg uhtish 500 punwlniuh Ukwnp pughwinip dwljkpku miikignn hhdblwh b ny hhutwluwh
2htmipiniithkph hpunid Juwéwnph Yuquulbpytwi nhugpnud’ 30 000 npuud,

q- 300 b wykih punwlyniup Ukwnp pinhwinip Uuljtpku nmitkgnn hhdtwluil b ny hhulluh ohtmpnihlikph

ukpunid Juwdwnph Yuquulkpupuh ghypnud’ 50000 npud:

5. dwdwjiph mwpuopnus®

1) pwgopjw wnlanmp Juqiwybpytin po Junympjul hunfwp wnbnulwG umppp uwhiwymd £ jmpwpw Gyymp opu
hwdwp 350npud” Uk pwnwyniuh Uknph hwdwp.

2) htinmily Jwnbjhph , whfuGhlwlwG htniyGhph, htmnujugyws quqtph dwlpwowfu wntijuph Ylnbpmd  hbnmy
Yuntihph, wbluGhljwlwa htinmyGtph, htnniugud quqtiph, ubnuwsé phwljwh Yud hEnnijwgdus upuyhb
quqkph Jwdwnpp poyumpjul hudwp nbnulw wnippp plpwghl wmupyw hudwp wwhiwGmd t 200 000
nud:

3) hwbmupbtpnud, Ypuwlikpnd hiqndy qunkghph, ubnud pwlurt Jud hinnujuglus tugpuaght quqkph
Uwbipwéwhu wnlnph YEnbpnid Jud unjunubpbiimbikph nkuhjulwh uyuuwpluwb b inpnguwh Swnuynippul
opjEyuiikpnul wkjubihyuljwt htnnuyikph Jugwnph Prjpnynipuil hunfup nhnwhwh wnppp pipughl wnwpfu
hunfup vwhidwingnud 45 000 gpu, Yhpumjws £ 0.75 gnpéuljhg:

3.1) hundwyliph wnwpuédpnud hwlipuhb ubligh Yuquulkpudwh b hpugdwb payuynipjul hunfup nkquiljwi
wnippp jnipupuiyinip kpunfujulh hudwp vwhdwinmd £

hpultnuljmb phtmpyniiibph tkpunud’

w. thiish 26 punwyniup Ubkunp plighwinin dwhbpku nilikgnn hwbpuyht utigh opykiuh hudwp' 2000 npud,

- 26-hg uhlish 50 pwrwymuh Ukwnp phighwing Uwltpku nilikgnn hwlipuyht ubinh opjkiunh hwdwp' 5100
nnud,




]
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q. 50-hg Uhish 100 punwlniuh Ubkwnp piiphwiinip dwljkpbu nitkgny hwipught uliinh opjkiwh hundwp' 12000

npu,
1. 100-hg uhiigh 200 punwlniuh dknp pighwinp Uwlkptu nilikgnn hwiipuyht wbimh opykljnh hudwp' 16000

npud,
t. 200-hg uhtisk 500 punwlniuh dkwnp pighwinip Uwltpku niiikgnn hwpuyht ubitmh opykljuh hudwp’ 25000

npud,
q- 500 b wljh pupwiniuh Ukwnp phghwinip dwijkpbu niikgnn hwlipuht uibinh opjkljinh hudwp' 35000
npund,
ny hhdtwljwh ghiinipnibikph bkpunud’
w. Uhlph 26 punwniuh Ukwnp pighwinip dwlkpbu niikgnn hwipuyhti ubibinh opjkljnh hwdwp' 1000 npud,
P. 26-hg uhtish 50 punwymuh dkwnp pighwimp vwikpbu niikgnn hwipuyht ubtinh opjklnh hwiwp' 2000

npu, :
q. 50-hg uhtsh 100 punwiljniuh dkwnp plnhwinip dwljkptu nilikgnn hwbpuyht ulitinh opkljunnh hunfmp‘ 4000

npud,
1}- 100-hg uhigh 200 punwlniuh dknp plphwimn dwlkpku nilikgnn hwiipuyht ubtinh opjljinh hwdwp' 8000

npud,
&. 200-hg uhlish 500 punwlniuh dkwnp pighwbng Umljtipku nitkgnn hwbpught utigh opyklunh hudwp' 15000

nnud,
q. 500 b un]ih pwnwlniuh dkwnp phghwingp dwhkpbu mbbkgnn hwipuyht ubtinh opjkinh hunfwp’ 25000
npud:

6. <udwylph wmwpwopnui® wnlanph, hwlpwyhG uGGnh, qupulph, whnuing fuwnbtph L YhGwlywhwntph
Yuquwybpupdwl  opjtynltpp, pwnGhpGhpp (vwniGwllpp), fuwnuwnGbpp  dunip’ 24.00-hg htun  wpuwwnbim
payjpufmpywl hunfwn' mbnulwG wnippp pGpwghl nwpjw hwdwp vwhdwGymad £
1) wnlanph opjtiljnGtph hwdwp' 50 000 npunt
2) hwlpuwhG uGGnh, qupdwlph opjkljnGtph hwdwp' 100 000 .

3) punGhpGtph (wwmGwbbph) hudwp' 500 000 .

HluwnunGph Yuqiwybpuydwl hwdwp® 1.000.000 gpud

5)whniny fuwntiph juqiwybpydw6 hudwp® 500.000 nnud

6) Uhdwlwhiwunbph juqiwlbpydw hudwp * 150.000 npwd

7. Qwiwylph nmwpwopmd  jupupwlsymp unfujw hwdwp wpnwphG qnywqn wbnungpbn poyumympjul hwdwp gy
pwnulniuh dtwnph whnuiljuG wmppp uvwhdwGyno £

1) wiynhnpuyhG uwhpnh wwpmGwympymbp Shi sl 20 dwiwpuyhG wnlnup wpnunmuip gnjuqnnn wpnwphl
qmjuqnh hwdwp' 2000 guud,

2) pmlin wiynhnpuyhG (uughpnp wuwpmiwimpmibp 20 L wylih  dwyjwwyhG wnlnu) wpnwnmubpp  gnywqnnn
mpmmphﬁ qnjuqnh hwdwn' 3500 nuud.

3) wy] wpmwphG gnjuqnh hwdwp® 1500 gpunt

4) nuunwny gnuqnuighG JuhwwyGeph hudwp' 375 npud:

8. dwiwylph wplulhg thwumnwpnphph WwndhGip L YpyGophGulGhp wpwdwnptm hwdwp wbnuljub wmmppn
ppwghy nmwpyu hunfwp vwhdwiymd £ 50 gpud:

9. Qwdwjlph wwpwopmd Gwpnunwn uwpunt  (pugunmpjudp  GppninuighG wmwpuhlibph)  ownwynipyma
hpuyulwgibn poyunympywG hwiwp wbnuljw nmppp pipwghly mupjw hwiwp uvwhiwlynus &' 10 000 nud:

10. Qwdwylph wwpwopmd hGwpupmpyui  Yuwd 2hGmpjul wpunwphG whupp thnhnfunn  Jpulwnnigdw
wpfuwnwlplln  Juumuwpbm  htn Juugfwo nbuihjuminbuwiul  wwpiwiiip Guibm m hwunuwntijm,



stepnuo hGwpwpmpyul 2whwqgnponuip thwunwgpbint hunfwp wnbnulwa hGpGulwnunjupiwG dwpiGh
dwnnigud dwnw JmpjmGGtph nhiwg thnfuhunnmgiwG Jdwp uwhdwlty 5 000 npud:

11.  Stnulwd hGpGwywnwupiwa twpdhGGbph wlophGnpjub L oquugnpodwl wwl qubyny hnntpp
hwnlwglhym, hhun ytpgitim L JupdwluympyuG npwiwnpbne nhupmd wlihpwdhyn swhwgpiwé L wyy (w6
wuwnwlplbph hwdwp * wbnulwe hGpGulywnuwpiw i UwpiGh Jwwnmguo ownwympymGGkph nhiwg
mfuhwinnigiwG J6wp uwhdw(b; 1000 npud:

12, Stnuljwi hpGwlununjwpiwi UwpdhGGEph Ynnihg upgnypltp L wdnipnGbp uqiwlbputim htn Juupud
owfuubiph thnfuhwwnnigduG hwdwp® duwuGwiyhg Gtiph Yewp uwhdw(by 5000 npund:

13, StqulwG hGpGuyuwnunjumiwG UwndhGGbph Ynndhg wnpuwhwbnipinibp Juquwybpubm hwdwp'

1) hunfuipnud phulygnn puwlhstitph wnpwhwhnpyub J6wp uwhdw Gt wfublwb UEY slshit 100 npud:

2) wnlwnph (wyy pynud onijubikph), hwipuyhh uliiph b phwlsmpub uywuwpldul wy Swnuynipiniiiikp
hpwluiimgyny 2htmipinibiikph duuny Ukl punwynmuh dkwnp Uwlbpbuh hudwp' unlublul 50 gpund,

3) hmpipuingikph b hinipubingughty ninbunipjui Swnuynipintiikp, hswbu twlb wy qnpémitbnipinth
hpulwhmging huuwpuljwluh 2htmpnithikph Uwuny' Ukl punwlniup Uknp dwlkpkup hwdwp' wdublwh 25
npul,

4) wpuugpuljw, wpynibwpbpulub b qpuukjuluyght lpwhmlnipub ohtmpjnihiikph Uwun]' kY
pwnwlniuh dkwnp Uwljkpkuh hudwp’ unfubuil 5 gpund.

5) Uppwljul, dpwhmpuysht, wnnneuywhwljwmh hwuwpuljuljw ohtnipymihitikph dwuny' kY pwnuilniuh dkwnp
Uwybpkuh hudup® wdubluwh 5 npund:

6) ohtmpmubtpnud, npnbn hpulwiugdnd E ukyhg wkh wnwbdbmgws wnbnbuwluh qnpénibibnipynl,
unpwhwbmieruh d&unt ulpnngm prunip huguplty wnuly pupdp npnypusuthng:

4 Chtupupulyul b hangop Eqpusundh wnph huduput b fofunpdob b bl
hiptuwunwjupdwh Uwpuhtibph Ynmuhg upuunpyng poyjnynippmi Yéup uwhiwik)® 10 000 ppu:

15. Zmﬂm}hph nupuspmy uwhdwhwhwlfuh tipwlw Swnuynipyui optljinh qnpéntikmpyui poypuympjub
hwufwp

w) Gwpwnlkh, nhuljninkyh, punithph, vumntbiugh & onqlipuniihph hunfwp’ opugniguihl mwpyw hwdwp' 20000
npul,

P) Zbunuyupuiht whnuph hunfup opwgniguyht nupyw hunfup’ 300 000 ot





